

Free Launching

(OM Ganapathi Namah)

499Rs Get 2 T Shirt

Free Register Here



Product Description:-

Imported cotton lycra, round neck t shirt for Boys and men's with the trendy look and personality
Size- M L XL

Fabric imported Cotton Lycra

Color-yellow ,beige, sky blue, royal blue, white, black

Specification

Style	Solid/ Plain T-Shirt
Fabric	Imported Cotton lycra
Neck	Round Neck
Sleeve	Half Sleeves
GSM	220
Pattern	Solid
Made in	India
Packaging	Without Box



Repurchase 499Rs Get 5 T Shirt with free home delivery



Product Description:-

Imported cotton lycra, round neck t shirt for Boys and men's with the trendy look and personality
Size- M L XL

Fabric imported Cotton Lycra

Color-yellow ,beige, sky blue, royal blue, white, black

Specification

Style	Solid/ Plain T-Shirt
Fabric	Imported Cotton lycra
Neck	Round Neck
Sleeve	Half Sleeves
GSM	220
Pattern	Solid
Made in	India
Packaging	Without Box



6 Types Income Here



Direct Income



5 Star Auto Level Income



Team Customer Level Income



Repurchase Income



Daily Target Achieve Bonus Income



Direct work Award Income

Direct Sponsor Income



**Every Direct Customer
ID Refer Income 50Rs**

5 Star Auto Level Income

Note :- This Income Automatic one by one Customer ID Serial Wise Distribute Income

1st Customer ID 5 Level Competed

After then

Only start 2nd Customer ID Income, so like that all the this will be every Customers.



Repurchase Income

Level	Team Customer	Repurchases	1 Customer income	Total Income
1	5	Rs/- 499	Rs/- 12	Rs/-60
2	25	Rs/- 499	Rs/- 12	Rs/-300
3	125	Rs/- 499	Rs/- 12	Rs/-1500
4	625	Rs/- 499	Rs/- 12	Rs/-7500
5	3125	Rs/- 499	Rs/- 12	Rs/-37,500
6	15625	Rs/- 499	Rs/- 12	Rs/-1,87,500
7	78125	Rs/- 499	Rs/- 12	Rs/-9,37,500

Repurchase Total Income

Rs/- 11,71,860

Team Customer Level Income

Team Level	Total Customer	1 Customer Income	Total Income
1	5	Rs/- 5	Rs/-25
2	25	Rs/- 5	Rs/-125
3	125	Rs/- 5	Rs/-625
4	625	Rs/- 5	Rs/-3125
5	3125	Rs/- 5	Rs/-15,625
6	15625	Rs/- 5	Rs/-78,125
7	78125	Rs/- 5	Rs/-3,90,625
Total Team Customer Income		Rs/- 4,88,275	

Daily Target Achieve Bonus Income (6:00 AM to 11.00PM)

- **Direct Refer in a day 5 Customer, you will earn extra 125Rs.**
- **Direct Refer in a day 10 Customer, you will earn extra 300Rs.**
- **Direct Refer in a day 15 Customer, you will earn extra 450Rs.**
- **Direct Refer in a day 20 Customer, you will earn extra 600Rs.**
- **Direct Refer in a day 25 Customer, you will earn extra 700Rs.**

Work Award Income

Level	Direct Refer Customer ID	Total Income
1	50	Rs/-500
2	100	Rs/-1000
3	200	Rs/-2000
4	300	Rs/-3000
5	400	Rs/-4000
6	500	Rs/-5000
7	1000	Rs/-10000
8	10000	Rs/-1,00000
Total Direct Reward Income		Rs/-1,25500

Why Network Marketing



- Extra Income
- Economic Freedom
- Self-employment
- Time Freedom
- Personality Development
- Helping Others
- Making New Contacts
- Leaving Inheritance



Surya Sinha

Legalities



Government of India
Form GST REG-06
(See Rule 10(1))

Registration Certificate

Registration Number : 29BPFFG1921R12H

1. Legal Name	MADIWALA NINGAPPA GANESHAKUMAR		
2. Trade Name, if any	BUYBGSHOP.COM		
3. Constitution of Business	Proprietorship		
4. Address of Principal Place of Business	NO. 8, 152/7, NEAR MATHAS SCHOOL, 2ND CROSS, LAKSHMI LAYOUT, GARVEBHAVI PALYA, BANGALORE, Bangalore (Bangalore) Urban, Karnataka, 560068		
5. Date of Liability			
6. Period of Validity	From	20/01/2020	To
7. Type of Registration	Regular 		
8. Particulars of Approving Authority	Karnataka		

Signature

Name	Mahabaleshwar U
Designation	Assistant Commissioner, LVO
Jurisdictional Office	LVO 015 A - BENGALURU
9. Date of issue of Certificate	20/01/2020
Note: The registration certificate is required to be prominently displayed at all places of business in the State.	

Terms And Conditions

- ★ **Daily payout Auto withdraw, your Bank account, Frist payment 1 Direct refer requirement all the customer(Monday to Friday)**
- ★ **Product Delivery Weekly Once Courier to your, Leader Address.**
- ★ **One Customer for 5 ID Only. (One Mobile/ Pan card)**
- ★ **5% Charge your all payout to company Maintenance.**
- ★ **Your income you can also use ID Generates.**